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... then there is

SLICE SAMPLING
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.. Yandomly .. until we find one in our
selecting points ..
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let's do
this ...




1. Putyour data in
2. Roughly estimate likely parameter values
3. Create a log likelihood function
4. (.. 1f you want) find the MLE
5. Create slice sampling widths
6. SAMPLE!

7. Use those samples
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2. Roughly estimate
likely parameter

values
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4\ MATLAB R

betal =

[log(log(n + 0.4)-1log(n — 0.3)) -
log(log(n + 0.4)-10og(0.1))]

/ ...
(Log(tl)-log(tn))



4\ MATLAB

etal =

exp (log(tl)+ ...

((log(1l) - (log(log(n + 0.4)-
log(0.1))))/ ) )



3. Create a log
likelihood

function



4\ MATLAB R

>> logL0 = @ (p)

logLik <- function (eta ,

log(p(2)) + ... beta , t) {
sum( (p(2)-1) .*log(t)) - ... + if(eta <= 0 || beta <=0
(p(2) *log(p(1))) - ... ) {
sum((t./p(1)) .~ p(2)) + result = -Inf}
+ if (eta > 0 && beta > 0){
>> option = ... + result = log(beta) +
{logL0 Q(p) -Inf} sum ( (beta-1) *log(t)) -

(beta*log(eta)) -
sum((t./eta)” beta)}}
>> logL = @ (p)

option{l + (min(p) <= 0)} (p)



4. (.. 1f you want)
find the MLE



5. Create slice

sampling widths
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6. SAMPLE!



4\ MATLAB R .

p:

_ p <- mcmé(logL,
slicesample ... c (eta0 , beta0l),

([eta0 , betal] , ... 10000,
e
10000 | 3 (eta0 , betal))

‘logpdf’ , loglL ,

width’ . 3 * [eta0 . betad]) - find and veseavch your

own pack-age!
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7. Use those samples



4\ MATLAB R

F = F =
wbledf (2,p(:,1),p(:,2)) l-exp(-((2/p(:,1))*p(:,2)))
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